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EUREA E]
a2BEEsRRNERAT $2,000,000
B $8,000,000
ENMERNERAT $2,000,000
E2KERDERAT $10,500,000
BZ $1,000,000
B $31,164,000
B $6,600
BURESE $500
BZ $1,000
B X $159,060
Tl $500
BURESE $600
TR, $510
e $550
FhE $500
B $66,000
= R $1,000
REFW $500
BRE& $550
FFE $500
EEJ) $500
BEE $1,000
FEIE $500
B $1,000
EHER $10,000
B $2,000
gliax $500
REIE] $1,000
BER $1,000
B $500
N $500
BRis#& $550
FBIE $500
=5 $600
BE& $100
B $500
HTE $1,000
S $500
ARy $500
BEE $500
DES= $500
B $1,000
Bl $1,000
M $2,000
BE& $500
A $500
15EE1E $500
B $1,000
SEER $1,600
BREE $3,000
= $500
B $500
BE& $10,000
REF $500
£ $10
B $500
gIRE $1,000
B $1,000
FEHE $2,000
SEZE $100,000
BE& $500
=L 55,053,730




